MIXER SECTION

PASSPORT

POWERED PORTABLE
SOUND SYSTEM

PARTS LIST

PRINTED CIRCUIT BOARD ASSEMBLY

QTY PART # DESCRIPTION _ REFERENCE DESIGNATION

10 007-0001-000 GP IC DUAL OP AMP TLG72/T1 Uz2.4,5,6,7,8,9,10,11,12

16 007-0002-000 GP DICDE 1N4148 D1.23456789/10,11,12,13,14,15,16

8 007-0004-000 GP XSTR N-CH JFET J112 TO-92 Q1,2.3.4.6.89.10.

3 007-0107-000 GP XSTR PNP MPSAS56 TO-92 Q5,7.11

2 007-0071-000 GP {C DUAL OP AMP LMB33N Ut.3

2 007-0073-000 GP CAP MY _1uF 100V 10% 85,86

16 007-0018-000 GP CAPAE 47uF 50V 20% Cs5, 17, 28, 49, 50, 51, 53, 56, 58, 61,
84, 65, 68, 71,72, 75

9 007-0017-000 GP CAP AE 1uF 50V 20% (6,10,22,33,35,36,39,40,82

6 007-0072-000 GP CAPAE 22pF 50V 20% C1,2,13,14,24,25

3 007-0431-000 GP CAPAE 4.7uF 50V 20% C12,66,73

18 (07-0092-000 GP CAPCD 27pF 50V 10% C9,11,21,23,32,34,37,38,43,46 52,57,
62, 69, 78,79,80,81

2 007-0432-000 GP CAP AE 47uF 25V 20% C47.48

2 007-0119-000 GP CAPAE 47uF 50V 20% cre77

3 007-0005-000 GP CAP MY .0015pF 100V 10% C7.18,29

4 007-0006-000 GP CAP MY .0047pF 100V 10% 54,55,59,60

6 G07-0007-000 GP CAP MY Q01pF 100V 10% C20,31,41,45,83,84

1 007-061G-000 GP CAP MY .01uF 100V 10% C87 { on PCB Copper Side )

3 007-G008-000 GP CAP MY .015uF 100V 10% €8,18,30

2 007-0009-000 GP CAP MY .022uF 100V 10% Ca2,44

6 007-0015-000 GP CAP CD 100pF 50V 10% C3.4.15,168,26,27

4 007-0181-000 GP CAP MY .0022uF 100V 10% C63,67,70,74

1 007-0433-000 GP RES CF 2w 5% 3.3R R140

4 007-0021-000 GP RES CF  1/8w 5% 4TO0R R22,23,24,136

17 007-6023-000 GP RES CF /8w 5% 1K R1,2,3,6,15,25,26,27,30,43,44 45, 48,
88, 89, 90, 91

9 007-0026-000 GPRESCF 1/8W 5% 88K R83,85,103,104,106,113,114,115,121

10 (07-0027-000 GP RES CF 1/8W 5% 10K R11,63,64,85,66,75,80,129,137,138

10 007-0028-000 GP RES CF  1/8W 5% 12K R9,14,33,37 53 87, 102,105,112,116

8 007-0031-000 GP RES CF  1/8W 5% 27K RE7,68,69,70,71,72.73,74

18 007-0033-000 GP RES CF 1/8W 5% 33K R4,57,,8,28,29,31,32,49,50,51,52, 93,
94, 96, 98, 143, 144

14 007-0034-000 GPRES CF 1/8W 5% 39K R10,13,34,36,54,56,100,101,110, 111,
123, 130, 141, 142

1 007-0434-000 GPRESCF 1/8W 5% 56K R124

18 007-0037-000 GPRESCF 1/8W 5% 82K R12,35,40,41 42 47 48,5560,61,62, 77,
78, 81, 125, 126, 127, 128

17 007-0038-000 GP RES CF  1/8W 5% 100K R20,21,38,39,58,59,76,79,86,87 92 95,
85, 97, 88, 122, 139, 145

3 007-0435-000 GP RES CF 1/8W 5% 110K R82,84,120

8



QTY

PART #

MIXER SECTION

PASSPORT

POWERED PORTABLE
SOUND SYSTEM

PARTS LIST

PRINTED CIRCUIT BOARD ASSEMBLY

CONTINUED
DESCRIPTION

REFERENCE DESIGNATION

S L% N o 2 SR S N o I T ey S 4 4 B s |

007-0041-000
007-0042-000
007-0436-000"
007-0437-000*
007-0438-000*
007-0439-000*
007-0440-000*
007-0441-000*
007-0442-000
007-0066-000
007-0067-000
007-0068-000
007-0082-000

Q07-0083-000
007-0443-000

007-0444-000
007-0445-000

PART #

GP RES CF 18W 5% 1M

GP RESCF 1/8W 5% 22M

GP CABLE JMPR 15CKT UL1007 80MM
GP CABLE JMPR 3CKYT UL2547 170MM
GP CABLE JMPR 3CKT UL2347 210MM
GP CABLE JMPR 3CKT UL2547 250MM
GP CABLE JMPR 2CKT UL1607 180MM
GP CABLE JMPR 2CKT UL1007 100MM
GP CABLE JMPR 5CKT HOUSING

GP JM24182-3P  WAFER CONNECTOR
GP JACK PCB STEREO W/O NUT

GP JACK PCBMONG  W/ONUT

GP CONTROL VERT 100X2 B

GP CONTROL VERT 100X2 B W/DETENT
GP SWITCH SLIDE 2P2T PCB 14MM LEGS

GP PCB ASSY MIXER
GP PCB ASSY MIXER

RCA /XLR INPUT SECTION

R17,18,19,108,118,132,133,134,135
R16,107,109,117,119

CN1 TO MIC OREAMP PCB

CN3 FROM BUS TO CN1

CN4 FROM VIP OUT TO IN

CN5 TO POWER AMP IN

CN6 +/-15V SUPPLY IN

CN7 GROUNDING IN

CN2 MIXER TO REVERB PCB

CN8 TEST POINT

PJ1.2.34,6

PJ5.7

VR2A, 3A, 4A, 7A, 8A, 11A, 12A,
14A/B, 21A, 22A

VR1A, SA/B, 6A, OA/B, 10A, 13A/B,
15A/8, 16A/B, 17A/B, 18A, 19A, 20A/B
SW1A/B,2A/B,3A,B,4

( RAW BOARD )

( STUFFED )

PRINTED CIRCUIT BOARD ASSEMBLY

DESCRIPTION

..M.x...x_...s._.s{,o._uo

007-0446-000
007-0078-000
007-0447-000
007-0448-000
007-0449-000
007-0450-000

GP JM24182-15P WAFER CONNECTOR
GP JACK XLR PC 80 DEGREE

GP JACK RCA PC 90 DEGREE & CKT
GP XLR MOUNTING BRACKET

GP PCB ASSY RCA/LXR

GP PCB ASSY RCA/XLR

REFERENCE DESIGNATION
CN1 FROM MIXER PCB

MJ1,2,3

RJITA/BC/DIEF

{ RAW BOARD )
( STUFFED )



PASSPORT

POWERED PORTABLE
SOUND SYSTEM

PARTS LIST

DIGITAL REVERB SECTION
PRINTED CIRCUIT BOARD ASSEMBLY

QTY PART # DESCRIPTION REFERENCE DESIGNATION
1 007-0086-000 GP IC DIGITAL REVERB M65841SP U401

1 007-6001-060 GP IC DUAL OP AMP TLO72/T1 U402

1 007-0087-000 GP iC REGULATOR+5Y NJM78L.05 TO-92 U403

2 (07-0080-000 GP CAP MO 1uF 50V 10% C402,C405

13 007-0091-000 GP CAPMO  .33uF 50V 10% C408,410,413,415,417 419
2 007-0092-000 GPCAPCD 27pF 50V 10% C406,407

2 007-0093-000 GP CAPCD 560pF 50V 10% C423,428

6 067-0011-000 GP CAP MY  01uF 100V 10% C409.411,412,414,416,418
2 007-0339-000 GP CAPMY  .033uF 100V 10% C416,418

3 007-0010-000 GP CAP MY  .047uF 100V 10% C420,421,422

1 007-0089-000 GP CAP MY  .0056uF 100V 10% C424

1 007-0094-000 GP CAPAE  47uF 10V 20% C404

1 007-0095-600 GP CAPAE  100uF 10V 20% C403

1 007-0019-000 GP CAPAE  10uF 25V 20% C401

1 007-0451-000 GP CAPAE  100uF 25V 20% C430

1 007-0096-000 GP CAP AE NP 1uF 50V 20% €425

1 007-0017-000 GP CAPAE  1uF S0V 20% C420

3 007-0452-600 GPRESCF /8w 5% 33R R419,421,423

2 007-0023-G00 GPRESCF 1/8W 5% 1K R401,402

1 007-0453-000 GPRESCF 1/8W 5% 18K R433

1 007-0098-000 GPRESCF  1/8W 5% 3.3K R434

3 007-0025-000 GPRESCF 1/8W 5% 47K R418,420,422

6 007-00958-000 GPRESCF 1/8W 5% 75K R406,408,410,413,414,417,
2 007-0027-000 GPRESCF  1/8W 5% 10K R424.432

6 007-0029-G00 GPRESCF 1/8W 5% 15K R425,426,428,429,430,431
1 Q07-0030-000 GPRESCF 1/8W 5% 20K R427

2 007-0035-000 GPRES CF  1/8W 5% 47K R404,405

6 007-0100-000 GPRESCF 1/8W 5% 75K R407,409,411,412,415 416
1 907-0041-000 GPRESCF 1/8W 5% 1M R403

1 007-0101-000 GP CERAMIC RESONATOR 4.19MHZ XTAL401

1 007-0062-G00 GP JM24182-5P WAFER CONNECTOR CN2

1 007-0454-000 GP PCB ASSY REVERS { RAW BOARD )

1 047-0455-000 GP PCB ASSY REVERB { STUFFED )

10



PASSPORT

POWERED PORTABLE
SOUND SYSTEM

PARTS LIST

SWITCHED MODE PSU SECTION

MODULE ASSEMBLY
QTY PART # DESCRIPTION REFERENCE DESIGNATION
1 007-0162-000 GP TRANSFORMER TOROID 12X6X4MM 1302
1 007-0163-600*  GP CHOKE COIL TOROID T80-26 L301
1 007-0456-000"  GP TRANSFORMER EE-25 COMMON MODE  T301
1 007-0457-000* GP TRANSFORMER ETD-38 PWRXFMR 1303
1 007-0165-000* GP CHOKE COIL TOROID T131-26 L302
1 007-0166-000* GP CHOKE COIL TOROID 12X6X4 1304
2 007-0458-000 GP FERRITE BEAD FB301,302
1 007-0211-000*  GP SPARK GAP SURGE ARRESTOR G301
2 007-0459-000 GP DIODE FR FEP 16GT TO-220 308,308
1 007-0460-000  GP DIODE RECTIFIER BRIDGE KBUSJ D301
1 007-0148-000 GP DIODE ZENER 12V 1/2W 5% Z£305
4 0607-0177-000 GP DIODE ZENER 18V 1/2W 5% £301,302,303,304
3 007-6002-000 GP DIODE 1N4148 D303,304,305
1 067-0461-000 GP DIODE UF4003 D302
2 007-0462-000 GP DIODE UF4006 D308,307
1 007-0463-000 GP IC SWITCH MODE CONT KA3842B u3o
1 G07-0464-000 GP IC OPTC COUPLER CNY17G-2 U302
1 {07-0465-000 GP IC TRIGGER TL431 U303
2 007-0178-000* GP XSTR POWER FET IRF840 Q301,302
1 007-0466-000* GP NEG TEMP COEFF.DEVICE NTC301
1 007-0213-000 GP RES SEMI-FIX1K TP301
3 (07-0090-000 GP CAP MO 1uF 50V 10% C310,311.316
1 007-6117-000 GP CAP CD 470pF 50V 10% €308
1 007-0816-000* GP CAPCD 100pF 1KV 10% C317
2 007-0187-000 GP CAP CD 470pF 1KV 10% C318,319
2 007-0487-000* GP CAP CD 3300pF 250V 20% (303,304
1 007-0011-000 GP CAP MO 01uF 100V 10% €312
1 007-0181-000 GP CAP MO .0022pF 100V 10% C314
2 007-0006-000 GP CAP MO .0047uF 100V 10% 313,315
2 007-0468-000 GP CAP MO .22uF 275V 20% C301,302
1 007-0019-000 GP CAP AE 10uF 25V 20% €308
1 007-0017-000 GP CAP AE 1pF 50V 20% €323
1 007-0182-000 GP CAP AE 100uF 50V 20% C307
2 007-0469-000 GP CAPAE 1000uF 83V 20% C320,321
2 007-0470-000* GP CAPAE 330pF 200V 20% C305,306
1 007-0471-000 GP RES MF 3w 5% .22R R316
2 047-0205-000 GP RES CF 2w 5% 47R R318,318
2 007-0191-000 GPRESCF 14W 5% 51R R312,314
H C07-0208-000 GP RES CF 2w 5% 100R R317
1 377-0488-000 GP RES CF 1/law 5% 220R R311
2 007-0193-000 GP RES CF 14W 5% 470R R310,322

11



PASSPORT

POWERED PORTABLE
SOUND SYSTEM

PARTS LIST

SWITCHED MODE PSU SECTION

MODULE ASSEMBLY
CONTINUED
QTY PART # DESCRIPTION REFERENCE DESIGNATION
007-0194-000 GP RES CF 1/4W 5% 680R R308
007-0195-000 GPRESCF 14W 5% 1K R308,313,315
007-0472-000 GP RES CF 1w 5% 2K R320
007-0473-000 GP RESCF 14W 5% 27K R325
007-0127-000 GP RES CF 1/4W 5% 3.9K R309
007-0474-000 GP RES CF 14W 5% 22K R307
007-0475-000 GP RES CF 14W 5% 39K R321
007-0131-000 GP RES CF 1/4W 5% 47K R323,324
007-0147-000 GP RES CF 14W 5% 100K R304
007-0202-000 GP RES CF 1/2W 5% 100K R302,303
007-0203-000 GP RES CF 1/2W 5% 470K R301
007-0476-000 GP RES CF 14W 5% 1M R305
007-0477-000*  GP CABLE JMPR BLK AWG16 UL1007 .11M  JPW3
007-0478-000 GP HEAT SHRINK TUBE 14MM ON TO-220 DEVICES
007-0267-000"  GP MAINS SWITCH 2P1T SW301
007-0228-00C GP JM2422-3M WAFER CONNECTOR CN301A (ON PCB)
007-0479-G00  GP CABLE ASSEMBLY W/HOUSING CN301B

MC}"I#!\)M(Q(Om--h--\—k—-tw...a.m.{;_..\;\)...s..x,.xm;w}.mx...\_xm.;_x_gm,.am..x..;_;_s_;w_x

007-0480-000"
007-0481-000"

GP WIRE JMPR AWG20 UL1007.12M BRN
GP WIRE JMPR AWG20 UL1007.12M RED

JPW1 (TO SW302)
JPW2 (TO SW302)

007-0264-000° GP IEC AC/FUSE PANE MOUNT SOCKET 4301
007-0482-000"  GP SW SY-113C12N AC SELECTO SW302
007-0483-000" GP 4A TIME LAG FUSE T4A

007-0484-000
007-0272-000
007-0270-000

GP POWER HEAT SINK
GP NY CABLE TIE  100MM
GP MICA INSULATOR25X40MM TO-3P

D301,302,308,309

Q204,205,208,209

$07-0485-000 GP PCB ASSY SMPSU { RAW BOARD )
007-0486-000 GP PCB ASSY SMPSU { STUFFED )
007-0487-000 GP SPACER 4153-2910-0
007-0261-000 GP 12V COOLING FAN FOR SMPSU FAN301
007-0489-000 GP CABINET TOP 4132-4721-0
007-0480-000 GP CABINET BOTTOM 4132-4731-0
007-0491-000 GP HALO WIRE BUSHING NY 2113-9535-0

G07-0492-000
007-0290-000
007-0493-000
007-6291-000
007-0494-000
007-0280-000
007-0282-000
{07-0495-000

GP WASHER FLAT TYPE M4

GP WASHER FLAT TYPE M3 BLX
GP WASHER SPRING TYPE M3
GP WASHER TEETH M4

GP WASHER SPRING TYPE M4
GP SCRW 3X6MM PHPS BLX

GP SCRW 3X8MM TF NI

GP SCRW 4X10MM TF BLX

12

2600-4008-1003
2600-3005-0803
2607-3009-0553
2608-4008-0653
2607-4010-0704
2044.3006-3000
28564-3008-3000
2804-4010-3000



PASSPORT

POWERED PORTABLE
SOUND SYSTEM

PARTS LIST

SWITCHED MODE PSU SECTION

MODULE ASSEMBLY
CONTINUED

QTY PART # DESCRIPTION REFERENCE DESIGNATION
4 007-0281-000 GP SCRW 3X8MM PHPS BLX 2944-3008-3000
2 007-0496-000 GP SCREW 3X 8MM PHB Zi 2950-3008-0020
2 007-0497-000 GP SCREW 3X14MM PHPS BLX 2904-3014-3000
4 007-0498-000 GP SCREW 3X10MM PHPS BLX 2904-3010-3000
2 G607-0499-000 GP NUT HEX TYPE M4 2604-4030-0704
4 007-0500-000 GP NUT MX NI 2640-3022-0544
2 007-6561-000 GP INSULATOR T(O-220 TPYE 4133-1200-0
2 007-0503-000 GP MOUNTING BRACKET THERMAL SW ZI  4133-2160-0
1 007-0504-0C0 GP SMPS QUICK REPAIR ASSY MODULE

STEREO POWER AMPLIFIER SECTION

PRINTED CIRCUIT BOARD ASSEMBLY
QTY PART # DESCRIPTION REFERENCE DESIGNATION
1 007-0001-000 GP IC DUAL OP AMP TLO72/T1 U201
2 007-0071-000 GP IC DUAL OP AMP 1.LM833N U202A/B,U203A/8
4 407-0004-000 GP XSTR N-CH JFET J112 T0-92 Q202,203,206,207
2 007-0505-000*  GP XSTR PWR FET 28K1058 TO-3P Q204,208
2 007-0506-000* GP XSTR PWR FET 284162 TO-3P Q205,209
1 007-0106-000 GP XSTR NPN MPSAD6 TO-92 Q201
1 ¢07-00602-000 GP DIODE 1N4148 D201, 202, 203, 204, 205, 206, 207,

208, 209, 210, 211

1 007-0547-000 GP DIODE ZENER 12V 1W 5% 2208
4 007-0147-000 GP DIODE ZENER 15V 1/2W 5% £202,203,204,205
2 007-0508-000 GP DIODE ZENER 15V 1W 5% 2206207
1 007-0508-000 GP DIODE ZENER 33V 1/2W 5% 2201
i 007-0510-000* GP THERMAL SWITCH TH201
4 {07-0014-000 GP CAP CD 47pF S0V 10% €203,205,213,215
2 067-0090-000 GP CAP MO .1uF BOV  10% 224,225
2 007-0511-000 GP CAP MO .22uF 50 10% C206,216
2 007-0512-000 GP CAP MY . 22uF 100V 10% C204,219
2 G07-0009-000 GP CAP MY .022uF 100V 10% C208,218
4 807-0017-000 GP CAPAE 1F 50V 20% ©202,207,212,217
1 a07-0072-000 GP CAPAE 22uF 50V 20% €201
2 007-0513-000 GP CAP AE 10uF 100V 20% 226,227
2 007-6514-000 GP CAP AE 22pF 16V 20% C204,214
7 {07-0432-000 GP CAP AE 47uF 25V 20% C210,211.220,221,222,223,228
3 007-0433-000 GP RES CF 2w 5% 33R R213,235,236

13



PASSPORT

POWERED PORTABLE
SOUND SYSTEM

PARTS LIST

STEREO POWER AMPLIFIER SECTION
PRINTED CIRCUIT BOARD ASSEMBLY

CONTINUED
TY PART # DESCRIPTION REFERENCE DESIGNATION
007-0601-000  GP RES WW _5W 5% 3708 R252,254
007-0515-000 GPRESWW 5W 5% 330R R253
007-0516-000 GPRESCF  1/8W 5% 390R R207,215,216,229,238,239
007-0023-000 GPRESCF  1/8W 5% 1K R250
007-0517-000 GPRESCF  1/8W 5% 1.5K R210,212,232,234
007-0518-000 GPRESCF  1/8W 5% 2K R251
007-0519-000 GPRESCF 2W 5% 33K R224,226,247 249
007-0025-000 GPRESCF 1/8W 5% 47K R211,233
007-0520-000 GPRESCF 1/8W 1% 51K R209,231
007-0027-000 GPRESCF  1/8W 5% 10K R205,227

{07-0029-000 GPRES CF  1/8W 5% 15K R214,217,237,240
007-0034-000 GP RES CF  1/8W 5% 39K R201,203,204,208,230
007-0521-600 GPRESCF 1/8W 5% 56K R218,241
007-0038-000 CGPRESCF 1/8W 5% 100K R206,219,228,242
007-0622-000 GPRESCF  1/8W 5% 390K R223,246
007-0041-000 GPRESCF  1/8W 5% 1M R220,221,243,244
007-0042-000 GPRES CF  1/8W 5% 2.2M R202
007-0523-000 GPRESCF 1/8W 5% 3.3M R222.225,245,248
007-0213-000 GP RES SEMI-FIX 1K TP201,202
067-6061-000 GP JM422-2M WAFER CONNECTOR CN201
007-0338-000 GP JM422-4M WAFER CONNECTOR CN202,203
007-0227-000  GP JM24182-2P WAFER CONNECTOR CN6,204,205

007-0066-000
007-0524-000*

GP UM24182-3P WAFER CONNECTOR CN5
GP CABLE JMPR AWG26 2CKT UL1007.1M  CN206 TO TH201

—l—LM-—A-*(A)P\JAN-&M%M-&M@»&&MI\JM&—A-&A@—ANO

007-0068-000 GP JACK PCB MONO  W/O NUT PJ201,202
007-0525-000  GP PCB AMPLIFIER ASSY { RAW BOARD )
007-65626-000 GP PCB AMPLIFIER ASSY ( STUFFED)

LED INDICATORS
PRINTED CIRCUIT BOARD ASSEMBLY

QTY PART # DESCRIPTION . REFERENCE DESIGNATION
1 007-0527-000  GP LED DUAL COLOR GREENRED LED201

1 007-0528-000*  GP CABLE JMPR AWG26 UL1007 220MM CN205(FROM PA BOARD)

1 007-0529-000  GP PCB LED ASSY { RAW BOARD

1 007-0530-000  GP PCB LED ASSY ( STUFFED )

14



PASSPORT

POWERED PORTABLE
SOUND SYSTEM

PARTS LIST

WIRELESS REG ASSEMBLY

PRINTED CIRCUIT BOARD ASSEMBLY

15

QTY _PART # DESCRIPTION REFERENCE DESIGNATION

1 007-0080-000 GP CAP MO .1uF 50V 10% Ca01

1 007-0017-000 GP CAPAE 1uF 50V 20% c8062

1 007-0227-000 GP JM24182-2P WAFER CONNECTOR CNB01,802

1 IC LM317HVT NS REGULATOR Uei

1 RME 1/4W 1.3K 1% AT R601

1 RMF 1/4W 240R 1% AT R602

1 GP PCB REG ASSY ( RAW BOARD )

1 GP PCB REG ASSY { STUFFED )
MIXER PANEL SECTION ASSEMBLY

QTY__PART # DESCRIPTION REFERENCE DESIGNATION

1 007-0531-000 GP FRONT PANEL OVERLAY 8900-1650-0

1 007-0532-000 GP FRONT PANEL 41533-2770-0

1 007-0533-000 GP SHIELD PLATE 4133-9500-0

1 007-0445-000 GP PCB MIXER ASSY 1723-073A-0000

1 007-0455-000 GP PCB REVERSB ASSY 1723-075A-0000

1 007-0450-000 GP PCB RCA/XLR ASSY 1723-080A-0000

4 $07-0634-000 GP SWITCH COVER 3100-4531-0

10 007-0282-000 GP SCRW 3X.8MM TF Ni 2954-3008-3000

2 007-0535-000 GP WASHER 3X.8MM FIBER 2601-3008-0801

4 007-0085-000 GP NY PCB STANDOFF (REVERB BOARD }  4153-1220-0

2 007-0536-000 GP MASTER CONTROL KNOB 41563-2820-0

20 007-0537-000 GP MIXER CONTROL KNOB 4153-2830-0

1 007-0530-000 GP PCB LED ASSY 1723-047H-0

6 007-0281-000 GP SCRW 3X8MM PHPS BLX 2904-3008-3000

2 007-0538-000 GP "U" BAR 4153.2980-0

8 0607-0280-000 GP WASHER FLAT TYPE M3 BLX 2600-3003-0402

7 007-0539-000 GP T-NUT HEX M12 4132-5013-0

7 (07-0540-000 GP WASHER FLAT TYPE 13X.5X17MM 4132-5041-0

1 007-0541-000 GP MIXER QUICK REPAIR MODULE ASSY



PASSPORT

POWERED PORTABLE

POWER MODULE ASSEMBLY

SOUND SYSTEM

PARTS LIST

QTY PART # DESCRIPTION REFERENCE DESIGNATION
1 007-0542-000 GP REAR PANEL 4133-8460-0
1 007-0543-000 GP AUX POWER BRACKET 4132-9510-0
4 007-0278-000 GP GM FUSE CONNECTOR INSERTS
2 007-0268-000 GP GM TYPE FUSE HOLDER HOUSING ASSEMBLY #4153-1160-0
1 007-0544-000 GP 4CKT HOUSING ASSY UL1007 7010-0140-0(AUX DC INPUT) CN202
1 007-0545-000 GP SCRW 2.6X6MM TF BLX 2934-2606-3000
1 (07-0546-000 GP GM FUSE COVER 4133-9530-0
1 007-0547-000 GP POWER AMP HEAT SINK AL 5400-1881-0
2 007-0548-000 GP MOUNTING BRACKET I 4133-9490-0
1 007-0526-000 GP PCB POWER AMP ASSY 1723-074A-0000
2 007-6549-000 GP STANDOFF BRASS 4133-9580-0
1 Q07-0503-000 GP MOUNTING BRACKET THERMAL SW 2| 4133-2160-0
g 007-0286-000 GP SCRW 3X12MM PHPS BLX 2950-3012-0020
1 007-0504-000 GP SMPSU QUICK REPAIR MODULE ASSY
4 0067-0290-000 GP WASHER FLAT TYPE M3 BLX 2600-3005-0803
11 007-0298-000 GP SCRW 3X6MM PHPS BLX 2934-3006-3000
12 007-0289-000 GP WAHER SPRING M3 BLX 2607-3006-3000
1 007-0550-000 GP POWER MODULE QUICK REPAIR ASSY
SPEAKER ASSEMBLY
QTY PART # DESCRIPTION — REFERENCE DESIGNATION
2 007-0551-000 GP GASKET BAFFLE SANTOPRENE 4153-2880-1
2 007-0552-000 GP SPKR GRILLE BLX PWDR PAINT 4133-8440-0
4 007-0553-000  GP SPK DRIVER UNIT 4 OHM 6.5" 1525-1150-0
2 N/A GP SPKR BAFFLE (WELDED TO BOX)
2 007-0554-000 GP SPKR BOX 4153-3020-0
2 007-0555-000  GP SPRUE CAP RED "F" LOGO 4153-2900-0
2 007-0556-000 GP SPRUE CAP NATURAL" F" LOGO 4153-2810-0
2 {07-0301-000 GP SPKR STAND PLUG 1463-9100-1
8 007-0314-000 GP SCRW 6X25MM TF BLX 2904-6025-3000
2 007-0557-G00  GP SCRW 4X14MM PHPS BLX 2854-4014-3000
16 007-0495-000 GP SCRW 4X10MM TF BLX 2851-4010-3000
4 007-0285-000 GP SCRW 3X10MM FLT HEAD BLX 2951-3010-3000
2 007-0311-000 GP JACK 1/4 MONO PCB
2 007-0279-000 GP WASHER FLAT M12 NI 4133-2810-0
2 007-0277-000 GP NUT HEX M12 NI 4133.2820-0
2 007-0340-000 GP SPKR STAND GASKET 41562-2091-0
1 007-0558-600 GP SPKR BOX QUICK REPAIR ASSY

16



PASSPORT

POWERED PORTABLE

SPEAKER LATCH ASSEMBLY

SOUND SYSTEM

PARTS LIST

QTY PART # DESCRIPTION . REFERENCE DESIGNATION
4 007-6559-000 GP LATCH ARM BLACK COLOR 4153-2740-1

4 007-0560-000 GP LATCH BRACKET BLX PAINT 4133-8540-0

8 007-0561-000 GP LATCH "C" PIN S8 4133-9430-0

4 007-0562-000 GP LATCH SPRING 4133-9550-0

4 007-0563-000 GP LATCH SAFETY CATCH RED COLOR 4153-2730-0

1 G07-0564-000 GP LATCH QUICK REPAIR ASSY

QTY PART#

F\)O’)CDG)AMMNT\}—AW-&MN—LM—\.AMM_;A,&.A“;M

CO R — = N
oM

007-0565-000
(407-0541-000
007-0550-000
007-05664-000
007-0566-000
007-0567-000
007-0568-000
007-0569-000
007-0870-000
007-0571-000
Q07-0572-000
007-0573-000
007-0574-000
007-0575-000
007-0876-000
{07-0577-000
007-0578-000
007-0556-000
007-0579-000
007-0580-000
007-0282-000
007-0581-000
007-0495-000
007-0602-000
007-0582-000
007-0545-000
0607-0281-000
007-0280-600
007-0290-000
007-0345-000
007-0583-000

MAIN TOWER ASSEMBLY

DESCRIPTION

GP TOWER SIDE CABINET PP
GP MIXER QUICK REPAIR MODULE ASSY

GP POWER MODULE QUICK REPAIR ASSY

GP LATCH QUICK REPAIR ASSY
GP SIDE MOUNTING PLATE (A)

GP SIDE MOUNTING PLATE (B)

GP HANDLE COVER BLACK COLOR
GP PARTITION

GP COMPARTMENT DOOR

GP DOOR LATCH

GP FOOT STAND

GP SUPPORT RIB

GP HANDLE BRACKET 2|

GP GASKET TOP

GP GASKET HANDLE

GP GASKET BOTTOM

GP NAME PLATE BADGE RED ON WHITE
GP SPRUE CAP BLACK " F* LOGO
GP DOOR HINGE

GP SPRING COMPRESSION TYPE
GP SCRW 3X8MM TF BLX

GP SCRW 2.6X8MM PHPS BLX

GP SCRW 4X10MM TF BLX

GP SCRW 4X14MM TF BLX

GP SCRW FLAT HEAD 3X6MM BLX
GP SCRW 2X6MM TF BLX

GP SCRW 3X8MM PHPS BLX

GP SCRW 3X6MM PHPS BLX

GP WASHER FLAT TYPE M3 BLX
GP SCRW 4X16MM TF BLX

GP SCRW 4X16MM PHPS BLX

17

REFERENCE DESIGNATION

4153-2700-0

4133-9470-0
4133-8840-0
4153-2600-0
4133-9450-2
41563-2750-0
4153-2760-0
4153-2710-0
4153-2720-0
4132-4901-0
4153-2860-1
41563-2850-1
4163-2870-1
4153-2840-0
4153-2810-0
4153.2780-0
4133-9560-0

2854-3008-3000
2844-2608-0000
2951-4010-3000
2954-4014-3000
2801-3006-3000
2934-2606-3000
2844.-3008-3000
2944-3006-3000
2600-3005-0803
2910-40186-3000
2940-4016-3000



PASSPORT

POWERED PORTABLE
SOUND SYSTEM

PARTS LIST

MAIN TOWER ASSEMBLY

CONTINUED

QTY PART# DESCRIPTION REFERENCE DESIGNATION
8 007-0584-000 GP WASHER SPRING TYPE M4 2607-4008-0653
8 007-0452-000 GP WASHER FLAT TYPE M4 2600-4008-1003
3 (07-0493-000 GP WASHER SPRING TYPE M3 2607-3009-0553
1 007-0585-000 GP MAIN TOWER UNIT ASSY

WIRELESS REG CASING ASSEMBLY
QTY PART# DESCRIPTION REFERENCE DESIGNATION
1 T'NAL 2225A-20D 2x10 PIN CN606
3 007-0290-000 METAL WASHER M3X0.5X8MM Usg1 PCB
3 007-0493-000 SPRING WASHER M3X(0.9X5.5 uso1 PCB
1 007-0500-000 M3 NUT NI Uso1
2 M SCREW M3X12 P/H BLACK CNg0e
3 007-0498-000 SCREW M3X10 (BLK) REG PCB
1 007-0270-000 GP MICA INSULATOR25X40MM TO-3P Uso1
1 ANT WIRE 2751-13-0 CN603
1 0607-0501-000 GP INSULATOR TO-220 TPYE us0o1
1 SPONGE BAR 2751-12-0 CONSOLE
1 RUBBER CABLE BUSHING BLK SIDE PLATE-B
1 PLASTIC CABLE TIE (BLK) REG WIRE
1 UL1533#26 G/B PCEQ93-0228 CNGOTA
1 UL1533#26 G/B PCES9-0229 CNB07B
1 UL1007#26 R/B PCE98-0200 CNB01

PACKING ACCESSORIES

QTY PART# DESCRIPTION REFERENCE DESIGNATION
1 007-0585-000 GP MAIN TOWER UNIT ASSY
2 007-0558-000 GP SPEAKER BOX QUICK REPAIR ASSY
1 007-0328-000 GP MICROPHONE KIT
1 007-0586-000" GP DUST FILTER UL
2 007-0587-000 GP 9 METER SPKR CABLE 90 DEG JACK
1 007-0315-000°  GP UL/IEC POWER CORD (UL/CSA VER) NORTH AMERICA, TAIWAN
1 007-0316-000"  GP CE/IEC POWER CORD {EURO VER) CONT.EUR/ASIA EXPT HiK,CHINA,

AUSTRALIA JAPAN

1 007-0317-000*  GP BSAEC POWER CORD (UK/HK) UK HK
1 007-0318-000"  GP CCEE POWER CORD (CHINA) GREAT WALL 3TD.
1 007-0318-000" GP SAANIEC POWER CORD (AUST/NZ) AUSTRALIAINEW ZEALAND

18



QTY PART#

Rl ¥ B L 2 [ AU RN N S G

007-0320-000*
007-0588-000
007-0589-000
007-0590-000
007-0591-000
007-0592-000
007-0593-000
007-0594-000
007-6595-000
007-0596-000
007-0597-000
007-0598-000
007-0598-000

QTY PART#

PACKING ACCESSORIES

PASSPORT

POWERED PORTABLE

SOUND SYSTEM

PARTS LIST

CONTINUED
DESCRIPTION REFERENCE DESIGNATION
GP JIS/IEC POWER CORD W/ GND PIN JAPAN
GP OWNER' MANUAL
GP DUST COVER
GP POLYBAG MICROPHONE/SPKR CABLES
GP POLYBAG POWER CORD
GP POLYBAG MAIN UNIT
GP POLYBAG MANUAL/DOCUMENTS

GP INNER SPACER BRACE TOP

GP INNER SPACER BRACE BOTTOM
GP PADDED CARTON LINER TOP

GP PADDED CARTON LINER BOTTOM
GP PADDED CARTON LINER SIDES
GP CARTON BOX

PACKING MATERIAL
PACKING MATERIAL
PACKING MATERIAL
PACKING MATERIAL
PACKING MATERIAL
FPACKING MATERIAL

QUICK SERVICE MODULES

DESCRIPTION

REFERENCE DESIGNATION

ek e ed P s e N e

G07-0585-600
007-0558-000
007-0541-000
007-065650-000
007-0564-000
007-0445-000
007-0455-000
007-0450-000
C07-0504-000

QTY PART#

12
1
1
1
10
12
12

G07-0800-000
0G7-0541-000
067-0526-000
007-0550-G00
007-0586-000*
007-0587-000
007-0564-000

GP MAIN TOWER UNIT ASSY

GP SPEAKER BOX QUICK REPAIR ASSY
GP MIXER QUICK REPAIR MODULE ASSY
GP POWER MODULE QUICK REPAIR ASSY
GP LATCH QUICK REPAIR ASSY

GP PCB MIXER ASSY

GP PCB REVERB ASSY

GP PCB RCA/XLR ASSY

GP SMPSU QUICK REPAIR MODUKE ASSY

EXPORT STANDARD
SPARES KIT

DESCRIPTION

GP SERVICE MANUAL

GP MIXER QUICK REPAIR MODULE ASSY
GP PCB POWER AMP ASSY

GP POWER MODULE QUICK REPAIR ASSY
GP DUST FILTER UL

GP 8 METER SPKR CABLE 99 DEG JACK
GP LATCH QUICK REPAIR ASSY

19



TY

PART#

EXPORT STANDARD
SPARES KIT
CONTINUED

DESCRIPTION

Q
2
4
8
12
8
2
2
2
4
8
4
10
12
2
8
4
4

007-0554-000
007-0555-000
007-0556-000
G07-0553-000
007-0552-000
007-0504-000
007-0455-000
007-0450-000
007-0565-000
007-0578-000
007-G536-000
007-0537-000
007-0483-000
007-9326-000
007-0588-000
007-0589-0060
007-0599-000

PASSPORT

POWERED PORTABLE
SOUND SYSTEM

PARTS LIST

GP SPKR BOX
GP SPRUE CAP RED "F" LOGO

GP SPRUE CAP NATURAL "F" LOGO

GP SPKR DRIVER UNIT 4 OHM 6.5"

GP SPKR GRILLE BLX PWDR PAINT

GP SMPSU QUICK REPAIR MODULE ASSY
GP PCB REVERB ASSY

GP PCB RCA/XLR ASSY

GP TOWER SIDE CABINET PP P

GP NAME PLATE BADGE RED ON WHITE
GP MASTER CONTROL KNOB

GP MIXER CONTROL KNOB

GP 4A TIME LAG FUSE

GP MICROPHONE,CABLE, CLIP POUCH
GP OWNER'S MANUAL

GP DUST COVER

GP CARTON BOX (FLAT)

20



